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The Hashemite University Calculus 1
Department of Mathematics First Exam Time: One Hour
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Q1) Which of the following an even function?

2" il

a)x*+3x b)2-3x c¢)1+2cosx d) 142

e N A e S U

—

Q) If f(x) =3 ,then f7'(x) =

3x+

Ox-1 1-9x x+2 1=-x
b) x+2 L) 6—3x d) 2x+6

a)

x—3
6x—-2 .

Q3) The range of f(x) = S 13

a) R-{-2} b) R-{-3} ¢) R-{2} d) R-{3}

¥ Q4)Let f(x)=siny/32-2x? , then the domain of 7 is:
a) (-4,4) b)[0,4] c¢) (—e,-HU@4,») d)[-4.4]

y Q5) The value(s) of x of such that log, (6x — 8) =2 is:

a)—2 and -4 b) 4 only ¢)2and 4 d) 1 and 4

Q6) If f (x)=3x -5 and (f 0g)(x)=12x*—6x +13, then g(0) is
a)ll b)é ¢)13 d) -5

Q7)) If 7 (x)=;§_._§ and g(x)=x"*~1, then the domain of (f og)(x)is .
a)R-{1} b) R-{3} ¢) R-{-2,2,3} d) R-{-2,2}

Q8) Let 3e** = 1, then the value of x is

1 1 1 1
a)—tn; b) :In3 c)—-:1n3 d)4ln§-

Q9) The range of g(x) = —x* + 2x — 5 is:
a) (-2, 4] b)(-x,-4] c¢)[—4,+») d)[4, +x)
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Q10) If fix)=x +2x+5 then f(8)=

a) -1 b)0 ¢c) 1 d)2
Q11) If fix)=x’ +2x +3 find the value of x such that f"(x)=1

a) 6 b) 8 c) 10 d)7

Ql12) cos ' ( cos ( -1%:-))
A B 9T a7

Q13) sec(cos™(x)) =

=\~
=
I
-
.
N’
=Y
I
=
N

a) x b) c)



Final Exam

©1)
q)y3+3-'f C,-)l#Zfﬂ'hA
euen o dd = EVN
' ) X=X
b) 2-3X AV
ﬂﬂ'a} ﬂfj"f

The answeris ‘e

Q) F(x)~g¥-2

¥\ 2

Cad E (0D

gX- 2- ...j * 39X +Y = =6X- 2

2X A

'j+2.:’ &X- 3yx

3__}.2 - X(é—?g)

Q@5)

Xf= 6 X— <
X' 6Kkx =0

- 2 x-—/“*‘z
e =2 e

&—3X

the omswer is ¢

SY -2
S X >

og) ‘U'\f (anoe Jf

Range F = Domain ¢ ex)

H-22¢

W N

the apswor is ‘¢

QL"’) Crx) = ¢in.) 228248
Find bthe domain of €

= 'Rangc -

-2k >0
A (\s-Xx*)70

—

wa v e

e
Coman F() = -, ad

" “
the answpr i d

| \ \

Ehe an sweris 'c
Q{{) fo.) ':'3,(--13}
(Fo9) (4 =\ 24 2 X ¥\ 3
E(5(0) = V2 X —SX+I3

| 39u0)-5 =120~ e
?jCUJ—— s =0 the answeris "
a7)

the ik colukiont
(an)U(]“ FCol) ) = FLX* 1)

- S J 'D I’?-—é_«?;-zz

| Xty

Df—-ﬂg-: 0N Dgcr‘]‘: Q_
. R-.é ZJ "23

Lhe semnd solakion:
| qﬁjéfoﬁ / 3(*']6 O(e

e R-
| 9(x) £ 3
| Y| 4
| =¥ % -2

; O\:Pj = R- 5 ZJ'L?

the answer 5 o’
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1y = Inl A Gx=ini-Ins
. Li=-mM3

!- i
@ Lhe rang of 50‘*):"1( + 2X-5
3‘£ﬁ=o ':l} _.2X+2:g
X = 1
-4

9(1) =
The rage 15 (-7 &) .

N
Ehe anwer is "b

A0 Coxy= x3y2x+5
then F~1( )
Y?42% 45 = %
Ohbak & 58 WP <
c) 1 = 8

Cx)= XZ242X+ 3

LX) = 1 i
Cod=J\o (3 (\) (0ga>
F(i)::'-}-?_l-:'} =8

Il"‘t‘ AnsWwer s

a) &

éh? answer s "aq'

@ S € Cos 'C0Y) =

A

I _—
e —

CoS

Sec = b
X

’:he answer s b
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The Hashemite University Calculus I, First Exam ate Nov 2, 2009
Math. Department First semester 2009/2010 U'E’.’ .‘dj Time: 1 hour
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Warnfng Calculators are not allowed in this examination.’ |
Part I: Select the best correct anSwer and fill it in the following table: ( 2 points each )

alo|olw

m——

1. The graph of the functmn f(z) = z°~3z%+3z — 1 can be obtained by translating the graph of

the functmn f(z) = z°

(a) left 3 units (b) right 3 units
(c) right 1 umt (d) leftl unit
2. Let f(z) = 2 +4z + 1. Then if f-1(c®) = ¢, thenc =
-1 1
(a) 0 L o (€)1 (d) 7
S e
T—3% z—3
(a) —1 (b) 1 (c) oo (d) —o0
t-9

4. The function f (.1:) = : =% has vertical asymptote(s) at z =
(a) 3 and -3 (b) 3 (c) 3 and 2 (d) 2

5. The function f(z) = et has horizontal asymptate(s) at v =

' V2245432

(a) 4 and —4 (b) 4 (c) 1 and 2 (d) 1 and —2
6. Let f(z) = i 7 and o(z) =:1:-1-2‘ Then dom(f © g) =

(a) R — {2,3} (b) R — {2}

(c) R - {1,2,3} (d) R — {1,2}

v+ 6—2
7. lim =
r—2 T —2
1 1 1 1
(2) 75 (b) 2 (¢) 3 (d) 3
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o1 * 2N

: T _
domain of the function f(z) = o TEH = is

{0: 1} (b) R- {01 2}
{1} (@) R—1{2}

range of the function f (z) = -3 sin’z is
) (b) [-3,3] (c) [-3,0] (d) [0,1]

» plane curve y = sinz cosy is symmetric about the

is (b) y — azis
;Irf (d) none of the above

f(z) =z —5z%, z > 1. Then f~(z) =

1 T
1063 ®) 15 m*s
e
ws  @% Ve
period of the function f (z) = 33in(§+4) is
1
) ar (7 (D
p > (). Then ,h.ﬂx =0 if
L
L b)p<;  @p<0  @p=3
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The Hashemite University Calculus I, First Exam Date Nov 2, 2009
Math. Department First semester 2009/2010 Time: 1 hour
................... Balall uda gl Bl B g Jeedediall 6B

Warning : Calculators are not allowed in this examination. i
Part I Select the best correct answer and fill it in the following table: ( 2 points each )

|00
|

ey

——

- ] translating the graph of
1. The graph of the function f(z) = 2332243z — 1 can be obtained by g the gr

the function f(z) = z°

(b) right 3 units

(a) left 3 units !
(d) leftl umit

(¢) right 1 unit

aimcaets %
2. Let f(z) — z%+4z + 1. Then if f~3(c’) = ¢, then ¢ =

- ]
o  ®T @1 @F
- ‘o %* — 02 _-t_ﬁ b
. :]i?"' z—3
(a) —1 (b) 1 (c) o0 (d) —o0

7% —

9 : s
4. The function f(z) -— 0 has vertical asymptote(s) at z

(a) 3 and -3 (b) 3 (c) 3and 2 (d) 2
z—9 e e
5. The function f(z) = \/;r-l_3+3:: has horizontal asymptote(s) at y
(a) 4 and —4 (b) 4 (c) 1 and 2 (d) 1 and —2
1 p—

6. Let f(z) .- and g(z) =:1:-—-_2' Then dom(f o g) =

R - {2,3) (b) R - {2)
Eg R-{1,23} (HR-{12}

St Yo Gg
7. lim = |

r=—3 = 2 : 1
gy bl o 5 (kg S
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o domain of the function f(z) = e

- {0,1} (b) R — {0, z}
- {1} (d) R - {2}

e range of the function f(z) = —3 sin’z is
3] (b) [-3,8] (c) [-3,0] (d) [0,1]

he plane curve y =sinzcosy is symmetric about the

- QzTis (b) y — azis
igin (d) none of the above

# f(z) = z — 5z°, z > 1. Then f~'(z) =

ﬁ*i \/ ﬁ*'s"

5% (‘” io_o"E

. @ .
1e period of the function f (:.:) = 35m(§+4) is

(b) 4 (o) (d)zl;r-

t p> 0. Then limz~%*! =0 if

IT—20

1 ee<;  @p<0 @p=;
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(a)

9110
() . * * .
C .
(d) !

*This exam consists of 13 multiple choice questions with 2 points each. Selens ty0
best correct answer and fill your answer in the above table.

L If f(x)=4Jx-1, g(x)= —i— then the domain of fog
(@) [0,2) (0) (0,2] (¢) (—=,2]
’%- o
: Xx=1
2. The domain of f(x)== is
) X+2
(@ (-2,%) (b) [1,4+<0) W9 (== 2)U 1)

,,.?-..‘ 3. If Dom{f)=|[1,4] ,then Dom{(f(3x+4) is

7 ) () [=1,0) (2 12,5} (¢) {44
4. Therangeof f(x)= . IS
3—cos(2x)
-0
(@) [-1,0] (6) [-1,1] (c) [:5]
4°2
BRI G oy
J. i 5
x=1" - 1
(1) 4 (5) 1 (c) —
6. If f(3x)=———, ithen f(x)=
T . B
b X 3X X
. (1) — 0) — ) -
[ A% (@ X" +3 (©) XT+Y ( S-+7
-
7 5 / s -y 4
.If fix)=-2x +§, then f~(=1)=
15 15 15
q) $l— b) — (c) =3%|—
(4 \/15 (%) 16 .. V8
g. lim : - 1_‘ i5
{g!}”"'u.'_':&' o (D) + =29 (o) vV

10

~(d) {0,+ )

(4) (—2,1]
(d) [3,16]
_@ (—m,m)
(d) +=
3x
@ x!+1
s

¥y 13
"

&
[ Liviod dii Grvide
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_ J5x-2
9, lim 2

Fd i .
. o | @5 (©) + @ -5
! a h -
10. The grap of y'= |11 -3 issymmetric about the
join ot
(@) o8 by (b) x-axis only (c) y-axis only  (d) origin, x-axis, and y-axis-
11. Th : 2(x" +x) |,
- vertical asymptote(s) of [f(x)=—= - is(are)
. X -
@y x=1 (B) x = -1 () x=—-1,x=1 (@) x=0
12, lim Y25x* -=5x - 5x is '
(a . () e (¢) + (d) —<
2 ' 10 -

13. The graph of the parametric curve x =sintf, y=cost |, —-% <t<0 Is

(@) | ‘\

(©) (d)

5002 LK
11
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The ITashemite University
Dept. OF Mathematlics

ILxam 1
Calculus (1)

Number Erssd- Instructor

Ifirst Semester
2002/2003

Nanice Li.’ﬁg»/f‘.&fﬁ%g o
()1 (2 A 1 Qa4
JUSTRPI [ RS SO, VR ...\_____

.]/ ; . i i S
Aueslion (1}: Show that the equation X™+ X7 — 2X

P o

\

-

. \ : .
l OQuestion {'35‘\5}4:11;11 (he curve that represenicd by parmelric equ

N and indicate the direction
.
o }'=1-"~./l—- ER s

=k

—

solution in the incterval | -1,11].

l
y = r;-cos(.’l}: - 7)

N

< |

12

1 & ——

]

-r‘; i :
|2 R (').
) . \J

= 1 has al least one

(3 points)

Questionf (23 FFind the anlplitude, period , and skefeh the graph of

(3 poinls)

. ‘\1-._ ‘_.
P
: .'.r \\ :

l

unlions

(3 points) = J@,'
o . P
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A ) A e :f_—j-x:a‘i)i_
b TR e ' X 4 poinis
Ll F(x)= 1+ x and (fog)(x) = % Find g () - (4p

-

i \ | '-.. ..‘
et

.Ii ¥

' |

T

i ! \

:'-'l’:){ ;
dx i 1 : ; ( 4 points) : i}
02, Lvaluale -*[-(-_-;-——Tji- . I
cos® X —sin” X | I

# : l (4 points)

cl Wgeh ‘ 1
33, Find - j-— ----- Jdi . +
(23 i cus |
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. i g
| .- f(x)=x?=1,x20 and S(I)='j;t!lhﬂn the domain of gP/ 1S ; ( A (\:)

(1) [0,0) (10,HU(,») (d) (ofw). . A

(a) R\V{~1,1} | '
. e 0‘)}
ar A e,

| + : -
2 L“”{._l,.___..].]L‘L]lli'll!i. : -" : i‘)f(
I

@,- ¢ [h) | o :

3

-
S Q,
® - 1.'1-' — 'F'-
ol T '-‘:'_':'-.__-"-
5 '“'"'“-ln.____:‘" e ‘j
L]

1 ¥
lIFI'I - & A ] - ] )

-

3. The grapi of [(x)m =

-
[ s

St Y G &
' ; )Y a

2 sin v 15 :5‘:-‘nnnr.itrif.: ahout the:

-

; . ll:l- 1_.-— H -
coualion Coe, licinl

| : i I It IE.lll‘l
|- Iill-'- _!-;I l-lll'i I - .
— : ] . } i. '1ll (II[J I1LJI1L GI ill C l]{{-.l L] lDLI-J
‘ . L :‘I lr'l. l.j 1
; , -l.. {. 4
{‘ri [ L‘-

' 3 *--—-*':"iuﬂf- 4 2} 1‘u51,':-~:ulh'::'|y, arec.
s for the cjuation < y=="75"45

(¢)=2,41 ‘ (:(/952, 47, ‘

oy

AR i 1 HH'.I[':HHH'H_' Al the puri

(a) =, 4 (b) 4,4%
| sint induces the >

— J L w 2 b ‘ 1

(i (-0 B

Co H:,Hil.'li'l.‘. A o )t =l
g 1 Ly a2t =0 (¢) (x+2) +)

T L p et B B Rk

(a) (x=2)° Fl I

: FFarnl z
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R 1 f'“ff 3 s

: rP_ . 'l
st L I"*}l cs not cxist | (¢) ! Siconbil) l
(”J — ( (D) OCS 2\/2— 5
1 J2 _
i . |
Ealt T RIRE ‘ ' or which Lim f(x
Y Ll ) L”{ Fx#3  \hen the possible value (values) of & for whicly " I( ). _
' U i TR, g _ ' 2 . | |
jf iR, if x=3 By ‘ : Ay
7 &
existy s (are): ¥ i 2 .
: . (1) 0 (c) 6  (d) none ol the previous.,
(1) =3Ik X '

J
i atidns x=-2-rcost, y=3sint induces the
S FEliminating the parameter 7in the parameltric equalnj't’s x=—2-Fcost,y=3sIn
O L 1 ;
cyuation: ' ‘

‘ > '- L -22+"1.=9.
() O(x E D rpi= (D) (x=2) +3i =l (€) (x+2) +x = (d) 9(x=-2)"+)

unet ' Yi-x qe range of fis:
6 Consider the lmction f(x)= 2 -4f1 = x , then the rang f

() [0,2) (h) (-2 (¢) (=,0] ~ (d) [2,) .
" N v we a1 vertical asymptole al:

7. The graph of f(x)= riexs has a vertical asympl

(n) 2, =2 (b) -2 (u'{? P )

¢ |1 f(v)=xT =1,y =0 and o(x) = I-, then the domainol gof 18:

L "': .

Gy (0, DU, ) (h) 1 8=1,17. (¢) (U, ) (d) E},m) .

o ¥) +
O Py - _|1.$:1HE1|‘1.

() nonc of the previcus.

(i) 1 & (1) U | (C) -«
: SR R
' Ry Le e e G . 14 SYIAMILITIE 2DOME NG,
s The craply e the cqualion ese ) i s y
| iy v = axis (¢) % = axis () none of the previous .
(at U Are Vo= NI
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The Hashemite University First Exam
Department of Mathematics _ I.?nfe: 12/117 2065
Calculus 101 ah Time: One hour
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!
BB EWERT .
(1) . ; Ls
(h) | 5 e 2
(¢) ‘. o
(el) v - PR 51 L —

* This exam consists of 18 multiple choice questions, with 1.5 points for cach question.
* Sclect the best correct answer and fill your answer in the above table

L | :
~——I. The number of vertical asymptotes of t (x) = S 3)(x+_4) is
(@) I (b)3 () 2 (d) 0

X .
—J 2. The horizontal asymptote(s) of f(x)= le_ ] is(are)

(@) y =1 (h) y =-1 c)y=1y=-1 ) y=0

J31+21{1 iy g Sl

~) %}_ The value(s) of k that makes the function {(x) = lk %< 0

continuous is{ are):

, % (b) 0, -% (c) U, 2 (d) 0

4, If 1(3x+35)=6x+11, then f(xj is
(u) 2x -1 (5) 2x + 1 (c) 3x+1 () 3x-1

i3 Therange of fix)=4++/9- g iy

() |4,7] (b) [0,4] (c) [4,6] (d) |==,0]
faeb s
h. lim yor s is
ol 74X
J3 -
(1) - % (h) + e (c) = (1) duees notb exist

o The follmving graph represent the function

- e B e s
ril) tlhe = sSensdx

tD) Cvxs = =—Scasdx : ' .,
; : ,
L]
y & i \ T
E(I::I fI ‘!} = :"L'q._},q ::‘\. . —-i-;III— e —— —— L -—.:'.h
¥ 2
i i-"; n

16
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S Ilf f(x)=[x—3’, then f(x) is

/ 2 -t
(x-3) ‘x 3]
O @ =3

(df Nx* —6x+9

9. lim x—x"+5x*+11 is

= -

(a) 0 (b) —» . (c) + e (d)-does not exist

L

J0.1f T(\)=22°43, g(x)= Jx then the domain of feg s
(r1) 10,4 2) (b) (==»,0) (c) (—n,+ ») (d) none

L. The graph of (x) =3 - |:c - 4| is obtained from the graph of g(x) = ‘1 - 4! :

(a) u reflection about the x-axis and a translation 3 units down
(b) a reflection about the y-axis and a translation 3 units up
(¢) a reflection uboul the x-axis and a translation 3 units up
(d) a reflection about the y-axis and a translation 3 units down

12, The domain of f(x)= -JZ— Jx is
(a) |0,2) () (=»,4] (c) 10,4] (d) [0,2]

[3. The graph of {(x)=x>+x is ubmfnédfrmn the graph of g(x)=x*—-3x+1 bythetwo

translations :
(1) Two units to the left and one unit up
(h) Two units to the right and one unit down
(¢) Two units to the left and one unit down
(d) Two units to the right and one unit up

H -

=/ ';” The function f(x) = lias removable discontinuify at

(a) x=5,x = =5 (@1 =5 . (¢) x==5 (cl) none
|
.
15. Iim 2—=.  jy \
T 2 = 1 l
(t) v 1 (b) —l (c) -!- -} (n’)* does not exist
4 i . |
i6 lim - ;j is
(a) - =. ‘ (b) 1 = (¢c) @ (d) doey not exist
¢ Bt

7. The graph ofthe curve x* =3=y* iy sy.amelric about thie
() origin only (h) x-uxiy only (c) y-uxis enly  {d) origin, x-axis, and y-axis

I8, The paramerric equations of the circle x* 437 216 drawi counier clechkvise are

(1) A = =4cost, y = 4sint i<ts2n
(b} x = dcost, v = dsint P<t<2n
(¢) x = 4cost . v = =dsint t€t«lrn

(e none

{;‘..}“Lf :‘:-'.'- f
17
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= E . g™ T |
£ & pasint I swrsyng Siong the curve

b,

¢ 2z of x2 | such WAt ils x-

at point and the point (2,0) at Lhe mnistaht i

{;UUI Il T STl ‘.'":.".

e P T
& *:"'* i i 1- '::' g e i
D &1*319-5'4:%: WA
- = a ' |

1S ¢
2 is chang!

1]
LI |

aaw

=

L

138
-

c

- ,
...l-hu:gl'

ate "

E
"'_'_.‘.1.’_.: then the di:’-[ﬂ"cl,: hﬂt\\'ﬁﬂn “" .—F‘;gf:%%‘;!&:é‘:::;t;l i'
. - ETA Y AR A
":)rl+ I":sl- _5'_ '-E'Ii;-;?'.::."i:ﬁ '-l . :I
5 ; @) -3 cisiianad
. - " c) — cm/s d) —7 CMSkgigeassy  «
W -2 cm/s (b) 2cm/s ( s A 4 17 A )
(‘:{ " . s\ s ;;':";2 % ‘_ﬁi ;.}-ﬁf::ii f
, deds SARE *‘-h*-.i 3
R TL LG T M |
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